Montageanleitung
Instructions de montage
assembly instructions
Istruzioni per Installazione
Instrucciones de montaje
Handleiding
Monteringsvejledning
Manual de Instalacién

Instrukcja montazu

HEEHEEHHEBEHEA

Montézni ndvod

HX Montézny névod

ZHE iR SV

Y Mucrpykums no MowTasy
BV Szerelési Gtmutatd

@ Asennusohije

BY Monteringsanvisning

[ Montavimo instrukeijos
B Uputstva za instalaciju
I Montaj kilavuzu

9] Instructiuni de montare
Oényia ouvappordynong
Navodila za montazo
Paigaldusjuhend

Montazas instrukcija

AHREAHA

Uputstvo za montazu
e} Montasjeveiledning

g Muctpykums 3a ynotpeba
He udhézime rreth montimit
MR et Cladss

E HTHEE

A

ansgrohe

E/S Metropol
13414XXX 32542XXX

4
7

Metris S Metris
14420XXX 31494XXX

/)
J

Logis Talis S
7T1410XXX 72410XXX

J
J

Metris Classic ~ Metropol Classic
13413XXX 13425XXX

0
4

PuraVida Novus
15412XXX 71320XXX



Novus 71320XXX
E/ S 13414XXX
Logis 71410XXX
Metris 31494XXX
Metropol 32542XXX

15

< 30-35

X 9
R [Metris Classic 3413000 451, Y 33.37
ul I
Xpe—
X 9
BBy [olis s 72470XK 15 o NN 3335
1/

X
1]




Y

Metris S 14420XXX
PuraVida 15412XXX

X,

15

]

3 28-31

Metropol Classic
13425XXX

X,

15

X

1




i

BY: Silikon (essigsdurefreil)
@2 Silicone (sans acide acétiquel)
AN Silicone (free from acefic acid!)
[0 Silicone (esente da acido aceticol)
B Silicona (jlibre de acido acéticol)
M Silicone (azijnzuurvrijt)

BIN  Silikone (eddikesyre-fri)

Silicone (sem dcido acético)

Silikon (neutralny)

Silikon (bez kyseliny octové!)

Silikon (bez kyseliny octovei!)

RERE (AN ETR)

CunukoH (He conepxuT yKcycHow kmenotsil)

Silikoni (etikkahappovapaal)

Silikon (fri fran éttiksyral)

Silikonas (be acto rigsties!)
Silikon (ne sadrzi kiseline)
Silikon (asetik asit icermeyen)
Silicon (f&r& acid acetic!)
ZiINkovn (Sixwg o&ikd oul)
Silikon (brez ocetne kisline)
Silikoon (a&dikhappetal)
Silikons (etikskabi nesaturo3s!)
Silikon (ne sadrzi siréetnu kiselinu!)
Silikon (uten eddiksyre)
Cunukon (6e3 ouetHa kucenuHal)
Silikon (pa acid uthulle!)

(LAl mes e JB) oS [
Szilikon (ecetsavmentes!)

)Y (FEERERR! )

~ IEREEIZEER

p] 5B BREAREREEGEEE

SW 8 mm /
Amgwrenfe“ SW 12 mm
m Metris Classic m E/S
Al 13413XXX 13414XXX




=

PuraVida
15412XXX

SW 3 mm

(2 Nm)

B H H H

HE B B H B

Q)

A

Im Fall, dass Wasser an der Armatur Richtung Schaft
flieBt, muss der Strahlformer durch einen Standard
Luftsprudler 13914000 ersetzt werden.

Au cas ot de l'eau s'écoulerait en direction de la
fixation sur le robinet, remplacer I'ouverture de jet par
un aérateur standard 13914000.

If the water is flowing along the fixture in the direction
of the shaft, the spray former must be replaced with a
standard air bubbler 13914000.

II diffusore del gefto va sostituito da una valvola di
aerazione standard 13914000, nel caso che sul
valvolame in direzione del braccio scorre dell'acqua.
En caso de que fluya agua en el grifo en direccién a
la cénula, el formador de chorro debe sustituirse con
un perlator esténdar 13914000.

Indien aan de armatuur water in de richting van de
schacht vloeit, moet de straalvormer vervangen
worden door een standaard perlator 13914000.
Hvis der flyder vand p& armaturet i retning af skaftet,
skal stréleformeren udskiftes med en standard
perlator kpl. 13914000.

No caso de a dgua escorrer da torneira em direccéo
ao cano, é necessdrio substituir o moldador do jacto
por uma misturadora padrao 13914000.

W przypadku, gdy woda w armaturze ptynie w
kierunku trzpienia, ksztattownik przeptywu nalezy
zastgpié standardowym napowietrzaczem
13914000.

V pfipadg, Ze voda proudi po armatufe smérem k
pééce baterie, musi byt usmériiovaé proudu
nahrazen standardnim perldtorem 13914000.

V pripade, Ze voda pridi po armatire smerom k
packe batérie, musi byt usmerfiova pridu nahrade-
ny $tandardnym perlétorom 13914000.

=

H H

3

|

2]

B B 8 B @

AKAERT ] EHRSAI5 i sh, 2200 —4
PRUEBT 45 13914000 54} 7 &%,
Ecni B pykosTke apMaTypbi MMeeTcs yTeuka, To
popM1poBaTens CTpyw ceayeT 3ameHuTs Ha
CTAHOAPTHbIM BO3AYLWHbIM paccekarens 13914000.
Siing tapauksessa, ettd vesi valuu hanaa pitkin varren
suuntaan, sddtéosa on vaihdettava vakiomalliseen
poresuuttimeen 13914000.

Om det rinner vatten p& blandaren mot handtaget
méste strélskivan bytas ut mot en standard perlator
13914000

Jeigu vanduo béga per jungtis strypo kryptimi, srovés
formavimo prietaisas turi biti pakeistas standartiniu
oro putikliv 13914000.

U sluéaju da voda na armaturi tece u smjeru drika,
mjenja& mlaza se mora zamijeniti standardnim
aeratorom 13914000.

Armatir Gzerindeki suyun gévde yéniinde akmasi
durumunda piiskiirtme sekillendirici standart bir hava
puskirtme silindiri 13914000 ile degistirilmelidir.

In cazul in care apa din arméturd curge in directia
tijei, garnitura de jet trebuie Tnlocuitd cu un aerator
standard 13914000.

3¢ mepitTwon Tou To vepd Tpéxel emave om Baon mg
prarapiag, mpémel va avrikaractabel To e€dpmpa
Siapdpdwong dtopng vepol pe pia otdvrapvt ofra
avapikmpa 13914000.

V primeru, da voda na armaturi te€e v smeri rocaja,
je treba oblikovalec curka nadomestiti z zraéno
2vrkljo Standart 13914000.

Kui vesi segistis voolab kraani suunas, vahetage
joaotsik standardse kraaniaeraatori 13914000 vastu.
Gadijuma, ja ddens pie armatiras tek roktura
virzieng, striklas veidotdju nepiecie$ams aizvietot ar
aeratoru "Standart 13914000".

U sluéaju da voda na armaturi tece prema felu
slavine, uobli¢avaé mlaza se mora zameniti
standardnim aeratorom 13914000.

| tilfellet at vann renner fra armaturen i retning av
skaftet, skal stréleformeren erstattes med en standard
luftsprudler 13914000.

B cnyuar, ue Bonara Teve no apmatypara B ocoka
KbM LUMMKATA, NprcnocobnermeTo 3a opopmsHe Ha
CcTpysTa TpS6BA AA CE CMEHM CbC CTAHAAPTEH
aeparop 13914000.

N& rast se uji qarkullon né grupin e drejtimit t&
rubinetit, atéheré formuesi i valéve duhet t&
zévendésohet me njé kufizues standard pér
qarkullimin 13914000.



S,

S
o obaal) LA e el ol 13 Lo Alla 3 D -

L) Jae € 5 Jlatid s omy el o) ad| e

13914000 ad ) ol o) sell (ELE 2 oLall A
EIY Ha aviz a csaptelepen a kar felé folyik, akkor a

vizsugdr dtalakité fejet 13914000 sz. standard 2

légkeverésesre kell cserélni. & 3
G oSSRV 1T FOBEICHNSE 3

BlE T7L—52—%13914000(c33# L T< h\'h

fEEu,

SW 3 mm¢
(2 Nm)
m Logis m Metris
71410XXX Al 31494XXX
A
N
SV% SW 3 mm é
mm
v 2 Nm
m Talis S m Metropol Classic
“a 72410XXX 13425XXX
3
4

M,

(2 Nm)




=

Metropol
32542XXX

m Novus

\ 71320XXX
3
@r R

0N

SW 2,5 mm ©
(2 Nm)




Novus
71320XXX
30-35
3 — v
S = —= 2
v £ \‘?
N
8 — 192
211 ———P
Logis
71410XXX
S Je>f30-35
y W) o
R
> S
N
A 4
a5
¢— 195
206 ——P
Metropol
32542XXX
NI
~ p
8 Je»30-35 .
IL _L n
ST v
3 K
O o
v T A
&
¢ — 167
¢ 180 ———P
Talis S
72410XXX
NG 33-35
v3
I | v
o (M= ~
4 7‘“?
) «— 175 —4 ~
— 195 ———p Q

E/S
13414XXX
7 30-35
(o]
A 2
w ‘-1
© ¥
1S o }ji
vl L s
S 147 S(W
o
159 ——Pp
Metris
31494XXX
7 30-35
)
1 2
3 T v
& J=due
! *
J
© €« 165
O
21
181 ——|
Metris Classic
13413XXX
N /,
Py 33-37
(Di
& v T v o
O < -a )
% ™ A ™ ¢
4 “«—152—» | 4
<+« 165 —M

Metropol Classic

13425XXX

37-41

+—— 158 ——p
t— 171 ——P




Metris S PuraVida
14420XXX 15412XXX
p 28-31 < F 196 ——p
~
28-31
Pe 1 TER A
é i3 = R T
A N 1
N
v

03/4rﬁ

L71614J \(\5
-« 17— » ﬁ
«— 167



PuraVida

15412XXX
0,60 6,0
0,55 55
0,50 50
0,45 45
0,40 40
0,35 Ass

o V

< 030 30
0,25 : 2,5
0,20 ; 2,0
0,15 1,5

X

0,10 - ! 1,0
005 t— bt d1os
0,00 4 1oo

Q=I/mn0 3 6 9
Q=I/sec O 0,1

12 15 18 21 24 27 30
0,2 0,3 0,4 0,5

E/S

13414XXX
0,60 60
0,55 55
0,50 50
0,45 45
0,40 40

o 038 7135

< 030 3,0
0,25 A Los
0,20 L/ —1 2,0
0,15 / 115
0,10 11,0
0,05 ] 105

1 |

0,00 0,0

Q=I/mn0 3 6 9
Q-=l/sec O 0,1

12 15 18 21 24 27 30

0,2 0,3 0,4 0,5

Logis

71410XXX
0,60 6,0
0,55 7 5,5
0,50 /7 50
0,45 / 4,5
0,40 4,0

5 035 3,5

S 030 3,0
0,25 2,5
0,20 /// 20
0,15 15
0,10 / 1,0
0,05 | 05
, — ,
0,00 0,0

Q=I/mn0 3 6 9
Q=I/sec O 0,1

10

12 15 18 21 24 27 30

02 03 04 05

bar

bar

bar

P max. 1,0 MPa = 10 bar

T mox. 70 °C

P max. 1,0 MPa = 10 bar

T max. 70 °C

P max. 1,0 MPa = 10 bar

T mox. 70 °C



Novus 71320XXX / Metropol 32542XXX
Metris 31494XXX / Metris S 14420XXX

0,60 60
0,55 55
0,50 150 P max. 1,0 MPa = 10 bar
045 45
0,40 40
, 035 / 35
S 030 > 3028
0,25 4 : 2,5 T max. 70 °C
0,20 // . 2,0
015 A : 15
0,10 p : 1,0
0,05 . 05
0,00 . 00

Q=I/mn0 3 6 9 12 15 18 21 24 27 30
Q=1/sec O 0,1 0,2 0,3 0,4 0,5

Metropol Classic 13425XXX / 13413XXX

Talis S 72410XXX
0,60 60
0,55 /15
0,50 5,0 P max. 1,0 MPa = 10 bar
0,45 45
0,40 / 40
0,35 3,5
£ 030 // 303
0,25 vk 2,5 T max. 70 °C
0,20 : 2,0
015 : 15
0,10 : 1,0
0,05 . 05
0,00 . 0,0

Q=I/min0 3 6 9 12 15 18 21 24 27 30
Q=1/sec O 0,1 0,2 0,3 0,4 0,5



PuraVida
15412XXX

97846000

SW 8 mm

e

Metris S
14420XXX
92504000 98128000
SW 8 mm (13x2)
[(((A — 97530000
(((0@ Va'd 9?4000
98128000
(13x2)
97660000
(M6x6) _——©
SW 3 mm
13914000
(M24x1-251/ min) | &
SW 22 mm N %
Metris
31494XXX 97846000

%WSmm

98128000
(13x2)

97530000

98197000

(20x1,5)
97660000
(M6x6)
SW 3 mm

96512000
(M 24x1-301/ min)
SW 22 mm

12

97766000

98185000

(22x2) .

978]0000/

(M6x8)

SW 3 mm 98998000
(M 24x1 -

301/ min)
95290000%



Metropol Classic

13425XXX
(((((@ (& 98174000
/ (48x5)
92504000
SW 8 mm
98128000
E / S (13x2)
13414XXX
96472000
97660000
(M6x6)
SW 3 mm
98134000 96512000 / 96512990
(16x2,5) (M24x1-301/ min) ——
e SW 22 mm @
97530000
97810000
(M6x8)
SW 3 mm
13914000
(M24x1 -25 1/ min)
SW 22 mm @
Novus
71320XXX
96472000

93238000
(195 mm)
(13x2)
92754000 &
(@ 65 mm)
92851000
(M5x8)
SW 2,5 mm 96512000 @

(M24x1-30 1/ min) %
SW 22 mm @

13



‘@

Metris Classic Talis S
13413XXX 72410XXX
97846000
< SW38
(((“(/ . 97530000 ((((@@
© 92504000
/ SW 8 mm
98128000

98128000 (132)

(13x2) 8
9781000 ‘
(M6x8 (M5x6)
SW 3 SW 2,5 mm

96512000
(M24x1-30 |/ min)
SW 22 mm @ 96512000
(M24x1-301/ min)
Logis SW 22 mm
7141OXXX
92504000 97766000
SW 8 mm /
98128000
(13x2)
Metropol
32542XXX
92504000 92851000

98128000
(13x2)

98231000

(M5x8)

SW 2,5 mm =
97766000 92360000 @
(M24x1 -30 1/ min) @
SW 22 mm

(18x1,5)
(M5x6)/

14

96512000 =
(M24x1-301/ min) %
SW 22 mm @



HEREEEHERHENdREEEEEEBEEEE

Reinigungsempfehlung / Garantie / Kontakt
Recommandation pour le nettoyage / Garanties / Contact
Cleaning recommendation / Warranty / Contact
Raccomandazione di pulizia / Garanzia / Contatto
Recomendaciones para la limpieza / Garantia / Contacto
Aanbevelingen inzake reiniging / Garantie / Contact
Rengeringsvejledning / Garanti / Kontakt
Recomendacées de limpeza / Garantia / Contacto
Zalecenie dotyczqce pielegnaciji / Gwarancja / Kontakt
Doporuéeni k &isténi / Zaruka / Kontakt

Odpori&ania pre Eistenie / Zaruka / Kontakt

Tiar / 4R / el

Pekomernaumu no ouncrke / Fapantms / Kontakre
Puhdistussuositus / Takuu / Kosketus
Rengéringsrekommendationer / Garanti / Contacto
Valymo rekomendacijos / Garantija / Kontaktai
Preporuke za ¢iéenje / Garancija / Kontakt

Temizleme &nerisi / Garanti / Temas

Recomandari pentru curdtare / Garantie / Contact
JUoraon kabapiopol / Eyylnon / emadn

Priporocilo za ¢id¢enje / Garancija / Kontakt
Puhastussoovitused / Garantii / Kontakt

Tiridanas ieteikumi / Garantija / Kontakfi

Preporuke za &iéenje / Garancija / Kontakt

[Me] Anbefaling for rengjering / Garanti / Kontakt

BG|
SQ)

Mpenopbka 3a nounctsane / Fapanums / Kowtakr

Késhilla rreth pastrimit / Garancia / Kontakt

(€8 AgA AR/ FARS/AS

AR
HU|
JP)

Jiail /(A 5eY1 sasiall Y ) Glawal) / Calasill il g
Tisztitdsi tandcsok / Garancia / érintkezés

BFANDAE /REECDOWT / TS

cleaning-recommendation

I

o

www.hansgrohe.com/
cleaning-recommendation

cleaning-recommendation

e
[

www.hansgrohe.com/
cleaning-recommendation

15


http://www.hansgrohe.com/cleaning-recommendation

o

P-IX DVGW SINTEF NF 5_ Ff “s"'fs"l" ETA Q S KEVAND
Kiwh'
13413XXX
13414XXX P-X 18850/IB
13425XXX
14420XXX  P-X 9949/IB
15412XXX PX 19315/IC
31494XXX
32542XXX PIX 16939/IC
71320XXX
71410XXX PIX 28538/IC
72410XXX
E/S Metris S PuraVida Metropol Logis
13414XXX 14420XXX 15412XXX 32542XXX 71410XXX

Hansgrohe SE|

Hansgrohe SE| Hansgrohe SE| Hansgrohe SE

DIN 4109
P4X 18850/1B

TOVhsinnd®
LGARY
Products

DIN 4109
P4X 16939/IC

TOVRheinland
LGADY

DIN 4109
PAX 19315/IC

TOVRheinland

DIN 4109
PAX 9949/IB

TOVRhsinland®
LGARY LGARY

Products Products

Products

16

ansgrohe

Hansgrohe - AvestraBle 5 - 9 - D-77761 Schiltach - Telefon +49 (0) 78 36/51-1282 - Telefax +49 (0) 7836/511440

E-Mail: info@hansgrohe.com - Internet: www.hansgrohe.com

Hansgrohe SE|

DIN 4109
P4X 28538/IC

TOVRhsinland®
LGAR

Products

10/2020
9.07655.15



